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Perimeter of a Triangle
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Find the missing length of each triangle.

b. c. ;
b
3.3 ft
X 60m
78 m
4.6 ft

a. Hint: Look carefully
at the units

6.3cm

41 mm

perimeter = 142 mm

perimeter = 12.2 ft perimeter = 193 m

Preview
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the printable version of this worksheet.
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perimeter = 38.3 in

h=

perimeter = 419 in perimeter = 1,980 cm

e= y=
h. Hint: Look carefully
at the units D
55 ft

72 ft

98 mm
8.5cm

perimeter = 24.5 cm

perimeter = 176 ft

d= p=
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ANSWER KEY

( Perimeter of a Triangle )

Find the missing length of each triangle.

a. Hint: Look carefully
at the units

6.3cm

41 mm

b. c. ;
b
3.3 ft
X 60m
78 m
4.6 ft

d: 6.ZCm
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